MATLAB SCRIPT FOR BODE PLOTS

>> s = tf('s');  H1 = 16/(s^2*(2*s+1))

Transfer function:

    16

-----------

2 s^3 + s^2

>> subplot(1,3,1); Bode(H1); title('13.8')

>> 

>> s = tf('s');  H2 = (1000*s*(s^2+4*s+16))/((s+0.1)*(s+40)^2*(s+100))

Transfer function:

        1000 s^3 + 4000 s^2 + 16000 s

---------------------------------------------

s^4 + 180.1 s^3 + 9618 s^2 + 160960 s + 16000

>> subplot(1,3,2); Bode(H2); title('13.15')

>> 

>> s = tf('s');  H3 = (72*(s+2))/(s*(s^2+2.4*s+144))

Transfer function:

     72 s + 144

---------------------

s^3 + 2.4 s^2 + 144 s

>> subplot(1,3,3); Bode(H3); title('13.16')

********
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Problem 13.25  
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